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Qu;rstmn ‘ Questions
0. :

1. T to n transformation gives the value of Zo=

— M ———AM—o o B
Z, <:> Lo - |Z ,tr
o | 3 i &

M (Zc=z, zz+zzzz3+z, Z3J | Z,Z,
1

Zy+Zy+Z, : 7 = Z,Z,Z,
® 2c=7 7 47, 7.+2,2. B b=Z+z,+2,

2. In‘the above question’ n to T conversion gives the value of Z,

Z,Zy
Z,+Zg+Zy

i - DI (4)

3
@ Zy,+Z,+Zy

3. The equivalent inductance of the following is given by

/M\'
1 —"n—""

L +L,-M

) L*L+M , @
L, +L,-2M

‘® L, +L,+2M R
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4, Every arm' of the cube has a resistance of 6 ohms. The equivglz_ﬂ{
. | resistance of the cube is given by
5 6C2
6t (-xgoy | O
6[Q2
g 6|2 - |60
6Q
_ 6
60 f
(1) 36Q | SR @)L 1EnT
3 10Q D 4 5Q
5. In the following circuit, the value of R; is given by
1kQ kQ
AN AN
T
12V= 3R, §i> 2V,
@ o5k @ 250Q
(B 1kQ : 4 2kQ
6. Series RLC circuit has a resonant frequency of 1 MHz and a quality facﬁ
of 100, if the values of R, L, C are doubled, what is the new value of Q ?
ORI - (2 50 |
(3) 100 _ 4 200

HD-EE-2018—Electronlcs & Commumcatlon Engmeermg-Code—A
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Question Questions
No. Had
- , . | e g 1 &
7. In a series RLC circuit R = 2kQ, L = 1H, C =. 200 pF The resonant
frequency is ”
. (1) 23,104 Hz - . . (2 ——TE_ Hz
. |® 10kHz - - (4 20nkHz
8. For a 2-port network to be rec1proca1 following is true B
1) Z,=Z,andY, =Y, @ Y, =Y, &h =-h,
3) AD BC 0 o 4) AB—CD—O —
o, The network shown behaves hke a
¢
10—t 03
L SR
_ i 20 s o4
() Highpassfilter =~ (@ LPF .
| @ BPF Y & s vtk (4)' - Band stop filter
" 10. If the scatterlng matrix [S] of a two port network is
02£0° 0.9.290°] ' ,
[S] = [0.9490", 0.1490°] then thellnetwor,k 1s_
ROVR lbssless_ and rec;ipifocal e (2)  lossless but non reciprocal
(3) lossy bu't.reciproc'al .~ (@ neither lossy nor reciprocal
' 11. Current density in a semiconductor material is given by

(1) J=np ogE - , (2 J=pupqE

@ J=@p,+pep).E . @  JI=@p+ppp)/E
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No. | i
- 12, | Fermi Level for a P-type semiconductor 18 given by ‘
1) -EF':EV_KTlnﬁ @ B = Ey+KTln_Nv
._.1 . - ) N
‘ N ol = Ne
® E=E-Khy @ E=E-Khy
13. | -For conductors the value of Hall coefficient is given by .
S e 2 .} o _M.
(1) RH—. ;1-(; e | i ( ) . | Ha
- : ;. ‘up : ' | ; - : 'n”‘n’+pl'.l'p |
1@ =— - 4 =T
@ By=2 @ R=
‘14, | Theband ga_p energy of Ge at 300 12 is given by
| @ E=078ev . (g E,=1.121eV
® BS0M8leV . @) E=1212ev
| 18. | Under low level injection assumptic inj - -
! Jow.le _ 1on, the inject .
an extrinsic semiconductor is essentially the ; c = = oag purrent :
| @O Diffusion current @ Drift current
(3) Recombination cu . :
o previTent = 1y 2 Induction current
16, - Ga AS_ has band gap ener_gy‘ of the order of : e
@) 1.43eV A @) ' 0.7eV
- ; ) \° " e S
17. . Typical value of impurity c_oncentraW ' e
- (1) 1partin 108 parts o oE 2) 1 e ‘.dlode 18
@) 1PPM | @ Partin 100 parts
‘ =3 Part n 10 parts
PHD-EE—2018—Electromcs& Communication EngmeeW —
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Question Questions |
No. J
18. In the given circuit, the value of collectbr current is :

a=0.95
o—e+44.5
/ R
' R, =5kQ_ W o
L | T &V |

() 0.8mA 7 @ o09mA

@ 094TmA - (9 0847A
19. MOSFET can be used as a -

(1) Current controlled capacitor 2) "Voltage coﬁtrolled capacitor

(3) - Current controlled inductor @ Voltage controlled inductor
20. The effective channel length of a MOSFET in saturation decreases with

the increase in ix _ 8. A,

(1) Gatevoltage =~ . i " (2 Drain voltagé |
" (3)  Source voltage | | 4)  _ Body voltage

21. For a common base BJT, having I; =5 mA and a =0.97 an AC signal of 5

mV is applied between the base and the emitter terminals. The input

impedance is given by | * ,

@s2Q - @ 6Q

@) 490 @ 670
22. | The typical value of h, for common base BJT is

(1) 50-250 (@ -b0

@ -1 i, sy w108 #e8

PHD-EE-ZOIS—EIectfbnics’& Communication Engineering-Code-A
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Question| Questions
| No.
- 23. If the source resistance, the output res1stance of emltter follower using
" the simplified hybrld model would be - |
o MR o bR,
O 1+hy, . 4. B LS E hg,
| ah AL
el N ok A Ry
24.. | The ripple factoris given by
. : - ‘ 2
1 @ @ (1— —i—J
. A
3 B B SN
25. Following circuits is given by : -
I .S D,
Q %—ﬂlo/p 2-
T ew
(1) Bridge rectifier : (2)  Ring modulator
3) Frequ'ency discriminator (4) Voltage douBler.‘
26. For a transistor amplifier to be inherently stabl —
- | away, the- cond1t10n is d ¢ against thermal run
| 1) V> &:Q' ' (2) \Y Vee
) CE | ‘ CE < T
V .
B) Vg -
4 V=1 BV,

|
i
]

PHD-EE—2018—Electromcs & Communication Engmeermg—Code—A
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No.
217. For the circuit given the value of V__ is
-8V
3kQ
| @
2kQ
AT
1 Yout [ ;
(V= 0.7V)
(1) +6.14V @ -614V
(3) -514V @ 461V

28. The gam of a transistor amphﬁer falls at thh frequency due to the
(1) mternal capacn:ance of the dev1ce

2) c;ouphng capamtor at the 1nput

(3) skin effect . | . o

(4) * coupling capacitor at the output

29, The .eﬁ'ect_-_of negative feedback on Noise is

1 1— BA g @ N(1—BA) ,
@ N 1+pA 5 e i .
® N+ @ L
30. Cross-over dlstortlon .behav1our is a characterlstlcs of
(1) Class—-A output stage =~ (2) Class — B output stage

(3) Class — AB output stage (4) Common base output stage
PHD-EE—2018—Electromcs& Communlcatlon Engmeermg—Code—A | l

£ 7N

Scanned with CamScanner



Question - Questions : | ]
No. B ;.
31. The octal eqmvalent of Hexadecimal number 2E.C1 would be
| 1) 212602 (@ 56602
(3) 56623 : (4 65302
32. | The complement of complement of AB+A B willbe
(1) AB+AB | 2 AB
@ AB+AB 4 AB.(A +B)
33. - What is minimum number of 2-input NAND gates reqmred to complement
a 2-input OR gate @ .
@ 2 5 | @ 4
@) 3 | @ 5
34. A basic CMOS two input P"AND gate requires
1) Two N- channel MOSFETS _
' 2 Two N-Channel & two P- channel MOSFETS
(3) TwoP-Channel MOSFETs
(4) One N-Channel and one P-channel MOSFET
35 .| IC7402isa —2input -
| () NANDgate =~ (@ EX-ORgate
-~ . | @ NORgate | ~ (@ ORGate
36. A decoder is nothing but a DEMUX without
(1) control inputs _ ) data input
(3) enableinput - . - . ‘4  clock
87. | The size of a PROM needed to 1mp1ement adual8to1 MUX with common
‘selection inputs would be
() 256Kx2 . - (@ BI12Kx2
@) 1024Kx2 . @ 128K x 2 L

PIID-EE-2018-Electromcs & Commumcatlon Engineering-Code-A
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Question L o - Questions
No. o -
38. ' f]VhJCh one of followmg isnot a synchronous input w1th reference to a flip
op ; o

(1) JinputinJdKflipflop @ R input in RS flip flop .-
(3) PresetinputinJKflipflop - (4)  D-inputina D flip flop

39. . A counter having a modulus of 64 should have a minimum of ¥

' (1) Six flip flops : @) . Seven flip flops X

3) 65—D—flip flops (4) 64flipflops

40. A logic circuit that gives a pulsed waveform at the output for a smusmdal
input :
(1) Bistable multivibrator (2) Monostable multivibrator -

. (3) Astable multwarator -~ (4)  Schmitt trigger X

41, .| Poisson's equation is given by | .
1) v.D=0. ge- 2 Vviv=0
@ vV=-_ @ ViV= /

42, The total flux of a closed surface is equal to the net charge enclosed ot
within the surface. This statement is an expression of & 2 _1 ;2
(1) Divergence Theorem ©@) Gauss'sLaw ,‘ .:';._‘{-' . i ‘ i
3) Faraday ng a4 (4) ~ Maxwells equgti&ﬁs?' N

43. The divergence of a vector A= Xax+y dy +zéz is 2 .

() Oe T e K
@ 1 “ e @) ¢ 8
. 44, Which of the following expressmn 1s true for a perfect d1e1ectrlc
1 (1) o>we | - (2 o=we

&) o'<<§vé ' @ o=Jwe

| PHD-EE—2018-Electromcs&CommumcatmnEngmeermg—Code—A o s | -
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Qu;itxon Questions

45. Given that ¢ =38 m S/m & p_= 1 for aluminium, the skin depth at a
frequency of 2 MHz would be equal to . |
(1) 64.5nm o . (2) 645pm

@ 567.7nm @ 57.77pm

46. | The power density of solar radiation at a place is 1.2 k%z. The

approximate value of electric field corresponding to the incident solar
power is given by - ' '

(1) 950 V/m @ 150V
(3) 450 V/m (4 475Vm ‘
47. A plane wave in air impinges at 45°on a loss less dielectric. The transmitted

wave propagates at an angle 30° with respect to the normal. The value of
dielectric constant of the dielectric is :

1 25 Q@ 20
3 30 @ 40
48.. | Aplane wave travelling in a free space is incident normally on a medium

| having e, = 4.0. The fraction of power transmitted in to the medium is
given by ' ' -

» % - e g O o

® 4 e

49. A metallic waveguide can be considered asa
(1) lowpassfilter | (2)  high pass filter
(3) band passfilter (4)  band reject filter

50. A 10 GHz wave is propagatingina waveguide having a wall separation of
4 em. The largest number of half waves of electric intensity possible in

the quve'gpiide is : ‘
a1, b S @ 3
@ 2 - @4

PHDEE—201&Electronics&Communiéation Engineering-Code-A - -
| L e 4 (10) ~
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Question . . Questions
No.
51. The open loop transfer function of a certain control system is given by

GH = m for K > 0. For what value of gain factor, K, will the root
‘locus of the control system cross the jw-axis. " |

(1) 8 : 2 14

@ 24 @ s

52, For the above question, the value of the damping factor Lf, for a demgn
value of ga1n factor equal to 8 % .

(1) 05 ‘ | @ 03

(3) 0.707 (4  0.866

53. A system has 14 poles and 2 -zeroes. Its high frequency asymptote in its
| magnitude plot will have a slope of

(1) -40dB/decade (@  —240 dB/decade

(3) —280 dB/decade | (4 —320dB/decade

54. Bode plot of a stable system is shown in the followmg ﬁgure The transfer
function of the system is:

20 —
%:gl) ? i 20.dB/decsdé
w=1 —>w
TR S T -
(1) (S+1) : .. Wit ¢ (2) 1%S+1)
SN BT R (1
®) sE+) EURERI S T2

PHD-EE-2018—Electromcs & Communication Engmeermg—Code—A
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No. .
65. The state transition matrix represents

(1) Forced response of the system
(2) Free response of the s_jétem

(3) Transient response of,ihe system
@ 'None of these

- 56. The attenuation of the optical fiber is of the order of

(1) 0.01dBK, - . @ 02dBK,
3) 20dB/K_ '@ -40dBKK,
57. | The operating frequency corresponding to 1650 nm is
) 193 THz i A @ 193THz
3) 100 THz , . (4 300THz
58. Which of the following operatmnal mode is hkely to produce the shortest
' pulse width : ik : ,
1) Q-swﬂ:ched o | - (2 Cax_r‘ity dumpedl
(3 Quasi-CW @  Mode Locked
- 59. In optical communication systems, zero dispersion wavélength is operating
(| | at " ,
(1) 800nm: : (2) 1330 nm
@) 1550nm @@ 1630nm

60.. | In DWDM technology, the separation between the ad]acent channels is of
the order of

(1) 4-6nm I (2 0.8nm
@ 0lnm o 4 8—10nm

'PHD-EE-2018-Electromcs & Communication Engmeermg—Code—A
' (12) '
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Question : Questions
No. | ' |
61 The region of convergence of z-transform of the sequence
ST .o [6T . .
= ) —| — -n-1) 18
, [6] we [5] T Y
X |Z'<% T o onkian (@ ot el
(3)""<|Z|<g ST 4) '5'<|z|<oo

62. | Thepower saving in case of SSBISC signal as compared to a standard AM
signal for modulatlon index= 0 b is _

1) 94. 4% Sk} w @ 5.23.2% S
1@ 667% (oo wiioal L L@ TB%
63. Which of the followmg suﬁ'er (s). from the threshold eﬂ'ect

. (1) AM detectlon using envelope detection

1 (2 AM detection using synchronous detectmn A
| 3 FM detection using a discriminator *

(4) SSB detection with synchronous detection

64. | Asinusoidal wave of amplitude 10V and frequency 1kHz is applied to an.
| FM. generator havmg a frequency sensitivity constant of 40 Hle the

frequency deviation is 5
| @ 100Hz | | (2@  200Hz
3) 400Hz (@ 500Hz

65. -| In a VSB system, modulating frequency of 3 MHz results ina 81deband
_ power of 25 W If the carrier power is 100 W, the depth of modulation is

1 26% ST SRSy g
@ T% R (4) 1 100%
PHD-EE—2018—Electromcs& Commumcatlon Engmeermg—CodchA ‘
: “(13)
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Questions =,
No. , ‘ i

66. An FM signal is represented by v(t) = 15 cos [108  t + 6 sin 27 X 108 t]. The
maximum phase dewatmn inradians are

1) 5 T e 1D
@) 6 - | @) | |
67. . | PLL can be used to demodulate i 5 o
© | @ PAMsignals (@  FMsignals
@PM T @ DSBSC
68. | PAM mgnals can be detected by usmg =i
" - (1) ADC " o (2 - 1ntegra’tqr
(3) Band pass filter . : (4)  High pass filter

69. | Theinputtoa coherent de’ "ctor is DSBSC s.ugnal plus Noise, the noise at
; the detector output is glven by . .

1 In phase component | 2) 3 Quadrature eomponent
| | (8) Zero " @ | 'Envelope -
0. | ‘| AHilbert transformer ‘is e
| 1) Nonlinearsystem = (2)  Non-causal systerid
" (3) Time-varying system ‘. (4) .' Low pass system

71. ' | The Nyquist rate for message signal given by
| m(t) = 10 cos 10® ntt . cos 4 X 103 nit is

| @) 10kHz S @  25kHz
3) 5kHz o 4 2kHz
72.. | Compression in PCM refers to relative compression of | 3
| (1) Lower signal amplitudes - (2) Higher signal amplitudes
(3) Lowersignal frequencies . . (4) ngher signal frequencies

PHD-EE—2018—"Electromcs & Commumcatlon Engmeermg—Code—A
| i | (14)
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Qu;r?lon | ‘ Questions

73. | For a bit rate of 8 kbps, the best possible values of the transmltted
frequencies in a coherent binary FSK system are

(1) 16KkHzand 20 kHz (2). 20kHzand 32 kHz
(3) 20kHzand 40 kHz (4 32kHz and 40kHz
4. | Which function dlsplays a strlng of text and append a new line character
at itsend ?
| @ putchar() ~ . - @ printf()
@ puts(O) U @ pu(
76. . | What will be output of the followmg code if i = 10 and a[10] = 20 ;
: ali]= 1 ++; !
(1) a [10] will be 10 " @ 'alll] wﬂl be 11.
(3) a[ll]willbel0 - (4)  None of the above
76. Following statement is given’
LA=051 |
| b=@=0)?2:3;
| What will be the value of b~ =
() B e s @ .3
@0 - At
77. - | Find the output for the following C program :
main () |
{intx=2,y=6,z=6;
yx=y=¥z;
Cprintf ("% d %) o
@ 1. i @
3 6 | @ 8

PHD—EE—2018—Electromcs & Communication Engmeermg—Code—A
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78. The data type of the controlling statement of a switch statement can not,
be of the type :  © gl
(1) int | L (@) char
(3) . short (4) float

79. | main () {

| Chara[]= "Hello world";
print f (l“- % e", a+1);

" What is the output of above 'C' prbgrani

(1) Compilation Error (2 Garbage Output
@ elloWorld (4 helloworld

80. | FORTRANisa 1 T B :
(1). Highlevel language (@  Lowlevellanguage
(3) OOP language 4 Machine language

81. Three resistances R, =37 ohm * 5%, R,=75ohm + 5%, R,=50 ohm + 5%,
Determine the value of series res1stance error if they are connected in

senes :
(1) £5% (2. *175%
@ *358% . ' 4 +8.10%

82, A 160 £0% PF capacitor, an mductor of 160 pH and a res1stor of|
1200 £10 Q are connected in serles The value of resonant frequency is

() 1000kHz '~ @ 100kHz
@ 1.1MHTz~' BRI ) Q.QMHz

.\
Pa

PHD-EE—2018—Electromcs & Commumcatlon Engmeenng—Code—A
! | oo 't oo ( 16 )
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| Qu;stlon ' , Questions
0. ' -

83. Normal probability curve is denoted by

T -
o

. 1 » 1
2 2y x/ 202
(1) e o= exp (X qu) | _(2) oy el
(3)' 1 ( 2/ 202) 4-" -2 ;é/ v
- znexP —x ag ....() cmexp( 20%)
84. | Relative static error may be defined as
M true value e T (2) * true value — Absolute Error
Absolute Error ; true value
@) Absolute Error = ( 4)' Absolute Error-
true value + Absolute Error 4 true value \
85. Static sensitivity at an operating point is given by
infinitesimal change in the output

infinitesimal change in the input

infinitesimal change in the input
infinitesimal change in the output

true value
) _ ‘Absolute value SatS : 1 i )
@ Absolute value

- true value

86. The input impedance of a cathode ray oscilloscope is of the order of
(1) ‘10 .Q' : : - (2) -Megaohms -
) Kiloohms (4) fractionof 1 ohms

PPH)-EE—Z!IIS—Elqctronicé& Communication Engineering-Code-A
' P (17) .
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Question Questions ]
No. L ey
87. | The mean dev1at10n D in terms of deviations from the mean value of
readingsis : o
. o
o la Z%c_l_l s W
@ X @ F‘;Tz
88. The transfer function of a system is G (8) = 1?0 el-;t) the system
e is a linear system = (2)  isanonlinear system
(3) hasatransportation'ag - . (4). " None of the above |
89. .| 8086 microprccesso_r_ has address bus cf l i |
(1) 16bits o B B (2)  24bits
@ 20bits. @ -8bits
90. | 8086 hasa bus cycle of at least ey
(1) 4 clock periods - | (2 2 clock periods
(3) 3 clock periods’ @ None of these
91. | 8086 has basic no. of instructions ‘ =
D e j = (2)] 117
3 128 AR "(4): 956
92. The startmg address of an interrupt is called (in 8086 Micro proces;c)_;l’
| @) stack pomter - 2  program Soulives
(3) interrupt output | ). interrupt vector _
-

PHD-EE—2018—Electron1cs & Comrﬁunlcatlon Engmeermg-Code—A
B (18)
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Q“;itml.l | PE Questions

93. In‘ 8086 type O interrupt is reserved for

Q). eingle step | (20 NMI
3) Interrupt on overﬂow - ‘(4) Divide Error
94. | For a fully controlled single phase converter supplies power to a resistive

load of 10Q, the input voltage is 230 V, 650 Hz, the value of average output
voltage is for a = 45°

1) 27674V | ) 376.74V
| ® 17674V @ 'muV'

- 95. | Consider the circuit shown. What is the minimum W1dth of gate pulse to
ensure turn of the thynstor I.=4 mA) : -

T
T220v  02H %
W 2ps - . @ 4ps
@ 6psr i o (@) Bus
96. Snubber circuit is a |
L (1) Rheﬁcuit. gt hrag . (2) Purely Resistive :
"(3) Purely inductive @ R -C cireuit »
9. Choﬁperis used for comversiont of |
| (1) aetodc . F A a (2 '.tletoac

(3) .actoac = (@ detode

PHD-EE—2018-Electromcs & Communlcatlon Engmeenng-Code—-A
' (19)
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| Question

Questions
No.

98. Class 'C' chopper works in the following quadrants

st sy mmdo

(3) 1st& 2nd | . (4 Allquadrants
| 99. | Induction heating is used for | |
(1) Volume heéting . ' (2 - Plastic packing
@ Plyboardindustry (4) . Surface heating

100. | For speed control of ac motors_following are used |
(1). Cyclo converters N _ 2) 'Chopper‘.?s :
(3) Rectifiers" ., | (4) ~ UdT and‘!SCR

PHD-EE-2018-Electronies & Communication Engineering-Code-A
‘ (9N \ .
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the candidate.

4. Question Booklet along with answer key of all the A, B, C, D code will be got
uploaded on the University website after the conduct of Entrance Examination.
In case there is any discrepancy in the Question Booklet / Answer Key, the
same may be brought to the notice of the Controller of Examination in writing /
through E.Mail within 24 hours of uploading the same on the University Website.
Thereafter, no complaint in any case, will be considered

5. The candidate MUST NOT do any rough work or writing in the OMR
Answer-Sheet. Rough work, if any, may be done in the question book-let itself.
Answers MUST NOT be ticked in the Question book-let.

6. There will be no Negative marking. Each correct answer will be awarded
one full mark. Cutting, erasing, overwriting and more than one answer
in OMR Answer-Sheet will be treated as incorrect answer.

7. g}fe otnly Black or Blue BALL POINT PEN of good quality in the OMR Answer-

eet. :

8. BEFORE ANSWERING THE QUESTIONS, THE CANDIDATES S :
ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COI\I/I-TIP%%%%
gc())'OI‘KBLngE‘} ﬁggﬁ%ﬁsﬁlg (?II\T/IYI,IET{EGARDING MISPRINTING ETC. WILL
EXAMINATION. UTES AFTER STARTING OF THE
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Question ' diLr .
No. | _ Questions
1. . | Current densityina semiconductor material is given by
(1) J=np_g¢/E | @ J=pupqE
@) J=@p +pup).E @ J=(@p +ppp)/E
2. Fermi Level for a P-type semiconductor is given by
' N ' . N,
(1) E.=E,—KT lnﬁ% ) @  Ep=-E,+KT lnm‘
NA , ] ‘ ' e "c - NC
&) -EF=EV—KTII_1'1§ i @ E=E~Kny-
8. | For conductors the value of Hall coefficient is given by
) RH - nq' _ ( ) = Ko
My - np, +pi,
3 =— 4) R =——m=
® & @ Ry=—
4. | The band gap energy of Ge at 300 IO( is given by
(1) E,=0.785eV @ E=1121eV
‘ 3) E =0.7181 eV _ (4) E =1 212'eV
5.

Under low level injection assumption, the injected mmonty current for
" an extrinsic semiconductor is essentlally the

(1) Diffusioncurrent = (2) Drlft current
3) Recomb_'rnation current (4)  Induction current
6. | GaAshas bémd gap energy of the order of .
1o 148ev 7 ©  0TeV
@ 24eV. @ 16eV

'PlHD-EE-2018-Electronics&CommuhicationEngineering—-Code—B
' (1) |
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Ts Typical value of impurlty concentration in a tunnel diode is
(1) 1partin 108 parts j - (@) | 1 rlart in 10° parts
. @) 1PPM -, . ' , L 4) 1 partin 10 parts
8.. | In the given circuit, the value of collector current is :
o w0
gyt [ - ‘ VA
% > %RL =5kQ ¥
T | T &V
. T :
(1) 0.8mA ¢ T (2 09mA
3) 0.947m/. @ 0.847A
9. | MOSFETcanbeusedasa '
(1) Current controlled capaic:itor | .(‘2) , Voltage controlled capacitor
3) Current con‘rolled inductor 4) Voltage controlled inductor
' 10. The effective channel length of a MOSFET in saturatlon decreases with
the increase in ,
(1) Gatevoltage - 5 .(2) Drain voltage
. (8) Source voltage | (4  Body voltage .
11. 8086 has basic no. of instructions |
| o4 | i @ 17
3) 128 1 4 256 ,
12.. The starting address of an mterrupt is called (in 8086 M1cro processor)
(1) stack pointer | @) Program counter
(3) interrupt output 4  interrupt vector

PHD-EE-20 18-Electromcs & Communication Engineering-Code-B

(2)
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138. | In 8086 type O interrupt is reserved for
| (1) single step . @ NMI
(3) Interrupt on overflow i 4 Dividel Error .
14. | For a fully controlled single phase converter supphles power to a :résistive

load of 10Q, the input voltage is 230V, 50 Hz, the value of average output |
voltage is for o = 45° i 2

() 276.74V . @ 3814V
3) 176.74V @ 1674V

15. | Consider the circuit shown. What is the minimum width of gate pulse.to
- | ensure turn of the thyristor (I, = 4 mA). hi

T
D
= 220V 0.2H
(1) 2ps ‘ (2).‘- 4ps
3) 6 1Ls | - A  ._ '(4) 8pus
| 16. | Snubber circuitisa | | _
. .( 1) RL circuit | 4 (2) Purely Resistive
.(3) Purely 1nduct1ve .- @ R-C f:ircuit
17. .- Chopper is used for converswn of - it
(1) acto de ©) ~ detoac
3)  ac to ac (4 dctode 5

PHD-EE—20 18—Electromcs & Communication Engmeenng—Code—B
| (3)
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18. | Class'C' chopper works in the folquing quadrants

(1) 1st . @ 2nd
3 1st & 2nd | . (@ Allquadrants . -
19. . | Induction heating is used for .~ '.
| @ Volume heating ' @) ,Plasﬁic packing
(3) Plyboard indtistfy | (4  Surface heating -
20." | For speed control of ac motors following are used
(1) Cyeclo converters (2)  Choppers
_ (3) Rectifiers g (4 UJTandSCR
21. The Nyquist rate for message signal given by
. m(t) =10 cos 103t . cos 4 X 10° it is
(1) 10kHz | 2 2.5kHz
1 ©® 5kHz | 4) 2kHz
- 22,

Compression in PCM refers to relative compression of
(1) Lower signal amplitudes (2) ' Higher signal amplitudes
(3) Lower signal frequencies (4)  Higher signal frequencies

23. For a bit rate of 8 kbps, the best possible values of the transmittec
~ | frequencies in a coherent binary FSK syste

m are
(1) ' 16 kHz and 20 kHz @ 20kHzand 32 kHy
(3) 20kHzand40kHz @) 32kHzand 40 kg,
24, Which function disp

@) puts()

@D pu
25. What will be output of the followin de if 3 = | =
afil=i++; e e T
| @ aqo will be 10 @ a [il] will be 11
®) alll]willbe1o @ None of the ahoye
PHD-EE-2

, ;_018—Electronics& CommunicationEngineering—Cod

| B
‘ (4)
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26. Followmg statement is gwen ‘
a=0;

‘b=(a=0)? ? 2: 3

What will be the value of b ‘
1) 2 ‘ ol (@) -3
@ o ' | 4 1

27, " | Find the output for the following C program
main ()
{int x = 2, y =6, z=‘é; "

X=v== Z ‘
printf (" % 4", x) ,
@ 1 Y I T
(3 6 @ 8

28. | The data type of the controlhng statement of a switch statement can not
beofthetype - : . oy e
(1) int (2) - char
3) short @) float

29. | main(){ -

Char a [] = "Hello world" ;
print £ (" % s", a+1);
. What is the output of above 'C' program

1) Compﬂation Error - | (2) - - Garbage Oﬁtput '

@) elloWorld " (4) helloworld
PHD- EE—2018—-Electromcs & Commumcatmn Engineering-Code-B
( R
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No.
30. FORTRANisa - o 1
(1) Highlevellanguage 2) Lowlevel language
(3) OOPlanguage . (@ Machinelanguage
31. | The open loop transfer function of a certain control system is given by
_ K |
GH = S+ 2)3 for K> 0. I‘or what value of gain factor, K, will the root
locus of the control system Cross the jw-axis.
1 8 . (2) 14
3) 24 @ o
32. For the above question, the value of the damping factor § for a design
value of gain factor equal to 8 ? ,
(1) 0.5 | | @ 03
(3) 0.707 ' . (4 . 0866
33. | A system has 14 poles and 2-zeroes. Its hlgh frequency asymptote in its
| magnitude plot will have a slope of _
(1) —40 dB/decade . (@ -240dB/decade
(3) —280dB/decade (4) —320dB/decade
34. Bode plot of a stable system is shown in the following figure. The transfer| -
' function of the system is: ’
20 ‘
gain -
@B) 1 ¥ 20 dB/decade
- (S+1) e - N (S+1)
1 U L
(3) S(S+1) v . s(s+1) ]

PHD-EE—2018—Electromcs & Connnumcatlon Engineering-Code-B

A8y

Scanned with CamScanner



T e

i e i e S

S T NSRRI

Code-B

Question " Questions
No.
35.. | The state transition matrix represents
(1) :Forced response of the system -
(2) Free response of the system
(3 Transient response of the system !
- (4) None of these
86. | The attenuation of the opt1ca1 fiber is of the order of
(1) 0.01dB/K \ - (2) 0.2dBK_
3 20dBK, - . @ -40dBK,
317. The operating frequency corresponding to 1550 nm is -
(1) 198THz (20 19.3THz
® 10THz @  300THz
38. Which of the following operatlonal mode is hkely to produce the shortest
pulse width g . | .
() Q-switched | o (2  Cavity dumped |
@ QuasiCW (4 Mode Locked |
39. -Irtl optical commumcatmn systems, zero dispersion wavelength is operating
a . - . o
®) 800am . | @  13%0mm
(3) 1650nm - " (4 1630nm
40. | InDWDM technology, the separation between the adj acent channels is of
the order of | _ o
| ® 4-6mm @ 08nm
1® o0lom @ 8-10mm

- PHD-EE-2018-Electronics & Communication Engineering-Code-B
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41. | The octal equivalent of Hexadecimal number 2E.C1 would be
(1) 212.602 TR 2) _ 56.602
(3) 56.623 - (4)  65.302
42, | The complement of complement of AB +A B will be
(1) AB+AB | (2)_ AB |
@) AB+AB @ AB.(A+B)
43. What is minimum number of 2- 1nput NAND gates reqmred to complement
" | a2-input OR gate. | .
1 2 | @ 4
@ 3 ' @5

44, A basic CMOS two input NAND gate requires
(1) Two N-channel MOSFETSs '
(2) Two N-Channel & tw: P-channel MOSFETs
(3) TwoP-Channel MOSFETs '
. (4) One N-Channel and one P-channel MOSFET

45. | IC7402isa —2input -
' (1) NAND gate 2) EX-OR gate

(3) NOR gate (40 ORGate
46. | Adecoder is nothing but a DEMUX without
(1) control inputs (2)  datainput
(3) enableinput - 4@ clock ' .

47. | The size of a PROM needed to implement a dual 8 to 1 MUX with common
selection inputs would be

| @) 256Kx2. 2) '512K><2-
3) 1024Kx2 @ 128Kx2
48. Which one of followmg 1s not a synchronous input with reference to a ﬂl;
* flop ,
(1) J input in JK flip flop (2)  Rinputin RS flip flop

8) PresetinputinJKflipflop  (4) .D-inputina D flip flop J

PHD-EE—2018—Electron1cs & Commumcatlon Engmeermg—Code—B |
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49, ' | Acounter having a modulus of 64 should have a minimum of
(1) Six flip flops -+ (@ Seven flip flops
| ® 5-D-flip flops 4) 64 flip flops
50. Alogic circuit that gives a pulsed waveform at the output for a smusmdal
input
(1) Bistable multivibrator (2)  Monostable multivibrator
(3) Astable multivibrator (4)  Schmitt trigger
- 51. | For a common base BJT, having I =5mA and a =0.97 an AC signal of 5
mV is applied between the base ‘and the emitter terminals. The input
impedance is givenby - |
1) 52Q - O ©2 6Q
3 49Q . @ 6710
52. The typical value of h for common base BJT is
| (1) 50-250 (2 -b60
3 -1 | 4 25
63. If the source resistance, the output resistance of emltter follower using
the simplified hybrid model would be e |
h;, +R, _ h, +R,
1D 1+hg, ' S @ hg,
e 1
A A
54. The ripple factor is given by
2 i} | ’ ’ 2
1 1
: -ms | _1 . : ]- (s
® (IJ e fa
o .. ; ' Idc
@ ® =

PHD-EE—2018-EIectmmcs & Commumcation Engineering-Code-B
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55. | Following circuits is given by :
; D2 |
® L
; | -5 T C
(1) Bridge Tectifier " (2) Ringmodulator
(3) "Frequency discriminator = (4) Voltage doubler |
56. For a transistor amplifier to be inherently stable against thermal run
away, the condition is |
v | V,
1) V> @ V<=t
3) V= O Vomiky
() CE — 2 K (4) g~ CcC
57. For the circuit given the .valu‘e’ of V . is
| gV
3kQ
j Vout s IOV
| - (Vgg=0.7V)
() +514V . 2  -6.14V
1® -514V . 4.  +6.14V
58. The gain of a transistor amplifier falls at high frequency due to the
(1) internal capacitance of the device |

(2) coupling capacitor at the input
(3) skin effect

_(4)  coupling capacitor at the output

| PHD-EE-2018—Electromcs & Commumcatlon Englneermg—Code_B
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59. | The effect of negative feedback on Noise is

O A @ Na-pa
(3 N(1+BA) @ 1+pA
- 60. | Cross-over dlStOI‘thn behavmur is a characterlstms of »
(1) Class—A output stage ~ (2 Class—B output stage
3) Class -AB output stage , (4)' Common base output stage
61. Poisson's equation is given by Ik al
(1) v.D=0 @ viv=o
(3) V2V=—§ i o (4) V2V=-p -o

-62.- | The total flux of a closed surface is equal to the net charge enclosed
within the surface This statement is an expression of .

(1) Divergence Theorem (2) Gauss'sLaw
(3) FaradayLaw (4@ :Maxwells equations

63. | The divergence of a vector A=xax+ydy+zéz is

| @0 | ) | @ | }é _\
®1 " S @ .8
"64. ‘ Whlch of the following expressmn is true for a perfect dielectric
| (1) c>>we | ) C=We |
B o<<we | @ o=Jwe

PHD-EE—ZOIS-Electromcs & Communication Engineering-Code-B .
(11)
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65. Given that ¢ = 38 m S/m & p_= 1.for aluminium, the skin depth at a| —
- frequency of 2 MHz would be equal to |
(1) 64.5nm S-(2) 645um
(3) 57.7nm & @ 5T.7Tpm
66. The power density of solar radiation at a place is 1.2 k%z . The| |-
~ approximate value of electric field corresponding to the incident solar
power is given by - o L
1 950Vm | (@ 750Vim
@ 450Vim @ 475Vm gy
67. | Aplanewavein air impinges at 456°on a lossless dielectric. The transmitted \
' wave propagates at an anrle 30° with respect to the normal. The value of | .
dielectric constant of the aielectric is !
1 25 @ 20 '
3) 3.0 : ' 4 40 J
68. | Aplanewave travelling in a free space is incident normally on a medium
having ¢ = 4.0. The fraction of power transmitted in to the medium is|
‘givenby = :
o % | @ K
® Y% | @ Y%
69. A metallic wa}-'eguide can be considered as a
| (1) low-pass filter ' | (2) highpass filter
(3) band pass filter ‘ (4)  band reject filter

i’HDEE—20 18—Elecfrbnics, & Communication Engineering-Code;B
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70. | A10GHz wave is propagating in a waveguide having a wall separation of
' 4 cm. The largest number of half waves of electric mtensﬂ:y poss.uble in

the wavegmde is
W1 S @ 3
@) 2 . @9 4
71. | The region of convergence of z-transform of the sequence
| l:%] u(n)—[g-]' u(—n—l)'is B |
(1) |z|<,% ‘o ' 2). Iz|>%
@ g=lzl<3 : @ F<lzl<eo

72. The power saving in case of SSB/SC signal as compared toa standard AM
' signal for modulatmn 1ndex 0.5is

(1) 944% ' @ 23.2%

(3) 56.7% . @ %

73.7 Which of the followmg suffer (s) from the threshold effect
(1) AM detection using envelope dei_:ectlon

2) AM detection using synchronous detection
(3) FM detection using a discriminator
' (4) SSB detection w1th synchronous detectmn

74. A sinusoidal wave of amplitude 10 V and frequency 1kHz is apphed toan
FM generator having a frequency sensitivity constant of 40 HzIV the

frequency deviation is -
(1) 100Hz Tk @ 200 Hz
@) 400 Hz (4) B500Hz

PHD-EE—2018—Electromcs & Communication Engineering-Code-B Wi et *
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75. | In a VSB system, modulating frequenéy of 3 MHz results in a Siltiebzlll:
2y power of 25 W. If the carrier power is 100 W, the depth of modu atio

1) 25% | ‘ @  50% "
®) 5% @ 100%

76. An FM signal is represented by v(t) = 15 cos [108nt+ 6 sin on X 103 t]. The
maximum phase deviation in radians are

s S ® s
3 6 @ 9

1. PLL can be used to demodulate | |
| @O PAMsignalss (2 - FMsignals
(3) ‘PCM (@ DSBSC

78. PAM signals can be detected by using

(1) ADC ) () Integrator

(3) Band pass filter . L@ High pass filter

79. | The inputtoa coherent detector is DSBSC sign’él plus Noise, the noise af
. - the detector output is given by ‘ T b
(1) Inphase component ©)

Quadrature component
(3) Zero l |

-4 Envelope

80. A_Hilbert transformerisa -

(1) Nonlinear system . -, B (2)" l - Non causal éy t
| ‘ - stem -
(3) Time-varying system gy poo pass syst
' | stem
PHD-EE—2018—Electromcs&CommumcatlonEnglneermg—Code—B | —
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81, T to © transformation gives the value of 2=

Z, R
o A AMA—o0 o— Z, —o
Z, <=-> ZBI | Z.
© ' o) O— —_0
Tnetwork n network
- 2,2,+7,2,+Z,Z : Z.Z
7. b1yt by byl 4y ___Lals
M [ ¢ - Z ) (2) b= Zy+Zg+Z,
Zy+Zy+Zo - R,

©) ZC: Z, ZB'*'ZA'ZC"‘ZB Z; | “) ZC: Z,+7Z,+2,

82. | Inthe above question x to T conversion gives the value of Z

Q —Zk . - g Z; 47+ Lo &
747, . | 7 7 |
3 1 By | 4 | A LB

2 L\ +Z, + 1, () Zy+Zy+Z -

83. The equivalent inductance of the following is'given by

1 - >
st 2 - .
1) Li+L,+M @ L+L,-M
@ L +L,+2M . 4 L+L,—2M

PHD-EE—20 18-Electronics & Communication Engineering—Coﬂe—B
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84. | Every arm of the cube has a resistance of 6 ohms. The equivalent
‘resistance of the cube is given by . ‘ _

L 6Q
6Q 6 | \6Q
6|Q
g 61 l6n)
6Q
6.
| 60 ]
M 36 8, e @2 120
@ 10Q @, 5Q |

| 85. | In the followi1_1g circuit, the value of R, is éiven by

1kQ - 1kQ

‘v SR BDav, |

| |

(@) 05kQ @ 200 '
® 1aarire s @ =xo

86. - | Series RLC ci*uit has a resonant fre
| . | quency of 1 M
of 100, if the values of R, L, C are doubled,ywhat islii:

| 00 BB - @ s |
@ wo. @ a0 AR

nd a quality factor|
new value of Q ?

' i:PHD-EE—ZjOIS-Electronics & Communication Engineering-Code-B
. g ‘ (16)
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i i

{

a et g4 0= .0 o G s r i e ;
8700t iIn a ser1es RLC c1rcu1t R 2kQ L = 1H C ,-r Z(!)E ,pF The reso!nant

:

I

|E - frequency is ‘ | a0ITSL §
i £ |
{

1 - lo 2x10 sz @ ——Hz

@) 10kH e () gy |

5 L S o

WS For a'2-port network to be reciprocal; folldvving"is'?true = Qoir |
1l | O Z,=ZzandY, =Y, 2) Y&, ;
| |® ap-mo=o ® AB-GD=0

_hu
e

ok

—89,—| The network shown behaveslikea - - TSy e

g : . ol ”
190D [ OVENID FJILC 305 F!?' {11 E)I/’ ibﬁ

Spt e ) ; . 5 :
i R {-\ \ 78 <_| A P s Qe e— ry
;; w \‘.~‘ - } !. -':_}'.A ] \AAD i \1“

» 7Y = =2 T
> . L R BN

, | : “ 20 — —04

|
|
E
;
o
i
|

(1) nghpassﬁlter . (@ ° LPF nSlho &)
Ll x
| @ BPFT T fy,g,j‘;:p:.g() ‘Band stop filter -
90 va the scattermg matrix [S] of a_ two port network is
s T02£0-092907] oulrvamm
s [S]'= [09 £90° 0.1 4900] then the networkis | otuloudi 1!
‘ |

i
|
(D) lossless and re(uprocal S lossless but non re{c1procal :

1073 Dl 6y 1

. |
1 - 3) lossy but recxprocal : () nelther lossy nor r,ec1procall
{ {

Lt i

PHD-EE-2018—Electromcs & Commumcatlon Engmeenng—Code-B old-$108-09-GHY
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91. Three resistances R, =37 ohm + 5%, R,=750hm % 5%, R, =50 ohm * 5%,
Determine the value of series res1stance error if they are connected in
series \ ,
(1) +5% @ +£7.5%
@) *3.5% | @  +8.10%
92, A 160 +0% PF capacitor, an inductor of 160 pH and a resistor of |
+ 1200 10 Q are connected in series. The value of resonant frequency is
(1) 1000kHz @  100kHz
3 LIMHz @ 0.9MHz
93. Normal prcbability curve i . denoted by
Q) —p= exp (/209 A @ oo
oan @ T
3) 1 exp (-x%/20? | (4 : exp (x®/ 20;)
' o421 LY c/2n |
94. | Relative static error may be defined as il
a true value @ true value — Absolute Error
e Absolute Error - | true value
, Absolute Error | (4) Absolute Error
@) true value + Absolute Error "= - - true value .

PHD—EE—2018—Electromcs & Communication Engneerlng-code_B
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95.- | Static sensitivity at an operating point is given by

M infinitesimal change in the output
infinitesimal change in the input

infinitesimal change in the input
infinitesimal change in the output

©

true value
Absolute value

@)

Absolute value
true value

4)

96. The input impedance of a cathode ray oscillqscope is of the order of |
1 10 Q : - | 2 Megaiohms

' (3)’ Kiloohms ‘ o "(4)  fraction of 1 ohms

97. | The mean deviation D in terms of deviations from the inean value of n
readingsis

o2 o T

| @ Tan oty \/an |

. PI-IDLEE#2018—Electr§nics & Communication Engineering-Code-B
S (19)
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100e
the system

5(s+10)’

98. The transfer functmn ofa system is G (s)

Feskis '.hij.

(1) isalinear system i ol 1 (2) A3 1s a nonlinear system

P

e am——

(3) has a transportation lag @ None of the above

-|-

99. - | 8086 microprocessor has address bus of
(1) 16bits - | @  24bits |
(3) 20bits N @  8bits, . O

S ——

100. 4 8086hasabuscycle of at least , T
(1) 4clock periods @ 2—"6160ki'ﬁéi'i6dé‘i
“iop|:@ B clockperiods . () Noncofthese |
169105018 10 a1 gycia ) {8 24 siEDBSQIE Jrgue od'T ol
i
i

i e T S .

PR 15 St o e I il
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Qu;s;tion . | Questions
1. | Poisson's equationisgivenby - |
(1) v.D=0 i (2) VzV 0
&) vév=-§ @ vrvs / .
2. -The total flux of a closed surface is equal to the net charge enclosed
W1th1n the surface. This statement i is an expression of
(1) Divergence Theorem .' (@ GausssLaw
"(3) Faraday Law (4) Maxwe]ls equatlons
3. The divergence of a vector A xdx +ydy+2z 8z is
o PR - B 4
@ Prrtartrmsd » L@ 3
4, | Wh1ch of the followmg expressmn is‘true for a perfect d1electrlc '
| (1) o>>we . o (2) O=WE
(3) c<<we @ o=Jwe
5. | Giventhatc =38 m S/m & =1 for alumlmum, the skm depth at a
' frequency of 2 MHz would be equal to : -
(1) 64.5nm . | (2).  645um
(3) 57.7nm B : 4) . 67.77pm
6. - .The pOWei density of solar radietion at a place is 1.2 k“y The
| apprommate value of electric field correspondmg to the 1nc1dent solar
power is givenby .
(1) 950V/m g 2 750V/m.._
(3) 450V/m . @ 475Vim

P}[D-EE—2018-Electromcs & Commumcatlon Engineering-Code-C
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7. | Aplane wave in air impinges at 45° on a loss less dielectric. The transmitted

wave propagates at an angle 30° with respect to the normal. The value of
dielectric constant of the dielectric is :

(1) 25 2 20
3) 3.0 . S . 4 40 .
8. A plane wave travelling in a free space is incident normally on a m.ediur.n
* having ‘¢, = 4.0. The fraction of power transmitted in to the medium is
given by & '

0% e 4
® Y% @ %

9, A metallic waveguide can be considered asa '

(1) low pass filter " (2 highpassfilter
(3) bandpassfilter 1 (4 "band reject filter

10. A 10 GHz wave is propagating in a waveguide having a wall separation of

| 4 cm. The largest number of half waves of electric intensity possible in
the waveguideis - g
@ 1 e @ 38

@ 2 4 4

11. For a common base BJT, having I =5 mA and « =0.97 an AC signal of 5
: mYV is applied between the base and the emitter terminals. The input
impedance is given by : ,

1). 52Q ' - @ 60
® 190 | @ 670
12, | The typiqal value of h, fo_r common base BJT is i
| 1) 50—250 @ =50 -
@ -1 SN @ 925
PHD-EE-2018-Electronics & Communication Engineeririg-Code-C A | ]
' | o (2) '
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13.: If the source resistance, the output resistance of emitter follower using
| the simplified hybrid model would be '
h; +R, = h, +R,
D T ) ™
P 1
3) RS + h, | 4 'E;
14. | The ripple_: factor is given by
I . I .
1) Ll == -1 ]— [-ms
() (Idc] (2) ( Id]
g) -ms Jge
) ( ) Id" (4) Iims
15. Following circuits is given by :
‘ /)
g T HE " =
(1) Bridge rectifier | (2 Ringmodulator
- (3) Frequen'cy discriminatoi' (4)  Voltage doubler -
16. | For a transistor amphﬁer to be 1nherent1y stable against thermal run
' away, the condition’is
V, V,
® v, w” @ . V<"
; . . V ¥
(3) Ve = —2— 4) V g = 1.6V,

(3)

P}H)-EE-2018-Electron1cs & Commumcatmn Engmeermg-Code—C :
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17. " | For the circuit given the value of V, is :

8V
3L2

(1) +5.14V | @ -6.14V
() -5.14V - . @ +6.14V

18. | The gain of a transistor a1 “plifier falls at high freqﬁency dué to the
| (1) internal capacitance of the device

(2) coupling capacitor at the input

(3) skin effect ‘. | ' s

(4) coupling capacitor at the putpﬁt

19. | The effect of negative feedback on Noise is

N ' |
O 1A | 2 N@-pA)
3 N(1+BA). SRR AR oy
20. Cross-over distortion behaviour is a characteristics of ;
(1). Class — A output stage » (2) Class—-B output stage
(3) Class—AB output stage (4) - Common base output stage

i’PD-EE—ﬁOlS—Electronics & Communication Engineering-Code-C
| | (4)
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21. T to = transformation gives the value of Z, =
z 7
1 ; .
o——M\ M——o o Z, o
Zi = Zy Z;
o . ) | O— : 0
T network . 7 network
% Z: 472+ 2 L., " Z,Z
O B Wil T i 3) @ 7 = A LB
2, e Lt B | 2,Z,7,
A A A A A OB At Z,+Z,+1Z,
22. | In the above question 7 to T conversion gives the value of Z,
Zy+Zg+Z; L\ Zy+ZgZ +Z.Z,
: Z,+Z, ' ¥ Z,Z
3y es=lie2 " . 4 A &B
= Z,+Z,+Z, , ) Zy+Zy+Z,

23. The equivalent inductance of the following is given by

/-M\
1 ——
w . 2 _
1) L+L,+M | @ L+L-M
@ L,+L,+2M @ L+L-2M

PHD-EE—2018—Eleptronics & Communication Engineering-Code-C
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24, Every arm of the cube has a resistance of 6 ohms. The equivalent

resistance of the cube is given by

e 6Q 5
6@ 6|2
o
6 |
6
60 i
1) 360 . @ 12Q
3) 109 ) @ s5Q

25. In the following. c1rcu1t the value of R, i is given by

1kQ 1kQ
A AN
+ V, - . s
12V== gRL <i> 2V,
@ 05k @ 2500
@ 1kQ i @ 2kQ

26. Series RLC cir~ ,ut has a resonant frequency of1 MHz and a quahty factor
| of 100, if the values of R, L, C are doubled, what is the new value of Q ?

My 2% o 2 50
@) 100 ' (4 200

: HD EE-20 18—Electromcs & Commumcatlon Engineering-Code-C
| L . ‘ (6)
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7. In a series RLC circuit R = 2kQ, L =1H, C = ﬁ p.F, The resonant
frequency is - ' -
o 104 3
(1) 2x10*Hz - 2 —Hz b
(3) 10kHz _ @ 201; kHz
28. . | For a 2-port network to be reciprocal, followiqg is true
1) Z,=Z,andY, =Y, @ Y,=Y,&h,=-h,
(3) AD-BC=0 . (@ AB-CD=0
29. The network shown behaves like a
Jo—it 03
L R
; 20— el —— 04
(1) Highpassfilter -~ . ~ (2 LPF
(3) BPF ' ol (4) - Band stop filter.
30. If the scattering matrix [S] of a two port network is
‘ 0.2.£0° * 0.9 £90° ' |
[S] = [0'94900 0.12 90°J then Fhe network is
/(1) lossless and rec1procal 5 | (2) lossless but non reciprocal
3 lossy but reciprocal (4)  neither lossy nor reciprocal
31. 8086 has basic no. of 1nstruct10ns
H 64 BT TR - W |
@) 128 . o 4) 256

PIID;EE-2018-Electro_nics & Cdnmnuﬁication Engineering-Code-C -
' < (7)
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82. | The starting address of an interrupt is called (in'8086 Micro processor)
. (1) stack pointer . | | % () program counter
' (3) interrupt output i | (4)  interrupt vector .
33. In 8086 type O interrupt is reserved for :
(1) singlg_ step o (2) NMI
(3) Interrupt on overflow (4)  Divide Error
34.. | For afully controlled single phase converter supplies power to a resistive
: load of 10Q, the input voltage is 230 V, 50 Hz, the value of average output
voltage is for a = 45° : :
(1) 276.74V 2  376.74V
1 B) 176.74V @) . 76.74V )
- 35. Consider the circuit shown. What is the minimum width of géte pulse to|
5 ensure turn of the thyristor I,=4 mA). ,‘ |
T
D
T220V  02H
W) 2us @ 4ps
() 6pns @ 8pus
36. | Snubber circuitisa : _
| @© BLeircuit @ PurelyResistive
(8) Purelyinductive " @ R-Cecircuit
;PiD-EE—iOlS—Electronics & Connnﬁnication Engineering-Code-C 3

(8)

Scanned with CamScanner



- Code-C

Question

No. Questions
37. Chopper is used for conversion of

(1) actodec w (2 dctoac

(8) actoac | E 4 dctode
38. Class 'C' chopper works in the following quadrants

(1) 1st . ©® 2nd

(8) 1st & 2nd ' (4 Allquadrants
39. Induction heating is used for

(1) Volume heating ; (2) Plastic packing

3) -Plyboard industry (4)  Surfacehe atmg
40. For speed control of ac motors following are used

(1) Cyeclo converters (2 Choppers

3) Rectifiers | 4) UJTand SCR
41. The region of convergence of z-transform of the sequence

. [-g-] u(n)—[g] u(-n-1) is
("1) lzl<% @ lzl> ¥
6 ‘ 6 -

® 2<lal<s @ <<lzl<w
42, The power saving in case of SSB/SC signal as compared toa standardAM

signal for modulation index = 0.5 is

1) 944% .. @ 232%

. () 56.7% | QL 4 %

.PHD-EE-‘-2018—Electronics&CommunicationEngineering—Codé-C :
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43. Whlch of the following suffer (s) from the threshold effect
(1) AM detection using envelope detection |
(2 AM detectmn usmg synchronov s detection

. (3) FM detection using a d1scr1m1nator

'(4) SSB detection with synchronous detectmn

44, A sinusoidal wave of amplitude 10 V and frequency lkHz is applied to an
FM generator having a frequency sen51t1v1ty constant of 40 Hz/V, the

frequency deviationis ‘
(1) 100Hz . @ ° 200Hz
(3) 400Hz . @ 500Hz

45. In a VSB system, modulating frequency of 3 MHz resultsin a s1deband
power of 25 W. If the carri .r power is 100 W, the depth of modulatlon is

(1) 25% K @ 50%
@ % Lo 4)  100%

46. | AnFM signalisropresented by v(t) =15 cos [108 n t + 6 sin 2n X 10% ]. The
' maximum phase deviation in radlans are -

(1) b ey R ) 8 '
® 6 P — @ 9
47. | PLL can be used to demodulate :
(1) PAMsignals - N @  FMsignals |
| 3) PCM . @y P g (4) ~ DSBSC
48, | PAM Slgnals can be detected by using
| (1) ADC L ~(2) Integrator
" (3) Band pass filter : (4) High pass filter

‘ PHD-EE—20 18-Electromcs & Commumcatlon Engmeermg-code-c
(10)
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49. The input to a coherent detector i is DSBSC signal plus Noise, the noise at
the detector output is given by
(1). In phase component (2) Quadrature component
(3) Zero , | (4)  Envelope
50. A Hilbert transformer is a _
(1) Nonlinearsystem = (2) Non-causal system
- (3) Tlme-varymg system T (4)A Low pass system
51. ‘| The octal equivalent of Hexademmal number 2E.C1 wouldbe
(1) 212.602 “ _ (2 56.602
(3) 56.623 . .4 65.302
52. The complement of complement of AB+A B will bé
(1) AB+AB 2 AB-
3 AB+AB . 4 AB.(A +B)
53. What is minimum number of 2-1nput NAND gates required to complement
a 2-input OR gate oty
(1) *2 s @ 4
@) @ 5
54. A basic CMOS two input NAND gate requires
(1) TwoN-channel MOSFETSs
(2) Two N- Channel & two P-channel MOSFETs
3) Two P- -Channel MOSFETs
(4) OneN-Channeland one P-channel MOSFET
55. IC 7402isa —2input,
(1) NAND gaté s (2) EX-OR gate
(3 NORgate - (9 - ORGate

: PHD-EE—2018—Electromcs & Commumcatmn Engmeenng—Code—C
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| 56. | Adecoderis nothmg but a DEMUX without
| (O control inputs | (2) data inpgt— :
(3) enableinput . - @ clock 2

57. The size of a PROM needed to 1mp1ement a dual 8 tol MUX with common
selection inputs would be

() 26Kx2 - - @ 512Kx2
(3) 1024Kx2 e L 4  128Kx2
58. Which one of followmg isnot a synchronous input with reference to a flip
flop
(D) J input in JK flip ﬂop | (2) Rinputin RS ﬂip flop
(3 PresetinputinJK ﬂJp ﬂop @ D-inpﬁt ina D flip flop
59. A counter having a moduh 3 of 64 should have a minimum of
| (1) Six flip flops - (2) Seven flip flops .
(3) 5-D —flip flops @ " 641lip flops S,
. 60. A logic circuit that g1ves a pulsed Waveform at the output for a sinusoidal
' input ; ;.
(1) Bistable mult1v1brator S ) Monostable multivibrator
(3) Astable mult1v1brator (4)  Schmitt trlgger

61. . | The Nqust rate for message signal given by
o m(t) = 10 cos 1031tt.cos4>< 108 it is K

(1) 10kHz R 2 25kHz
(3 5kHz @ 2kHg

62. Compression in PCM refers to relative compression of e
(1) Lower signal amplitudes (2)  Highersignal amplitudes
(3) Lowersignal f_requencies , (4)  Higher signal frequencies

—

PHD-EE—20 18-Electronics & Commumcatlon Engmeermg—Code-C
g (12)
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63. For a bit rate of 8 kbps, the best possible values of the transmltted
frequencies in a coherent binary FSK system are |

(1) 16 kHz and 20 kHz | - (2. 20kHzand 32kHz
(3 20kHzand 40 kHz @ 32kHzand40kHz
64. | Which function displays a stnng of text and append a new line character

at its end ? o |

(1) putchar () @  printf()

@) puts () - 4 put O

' 65. What will be output of the following code ifi= 10 and a[10] = 20
.| afi]=i++; . _
(1) a[l0]willbe 10 (2) ‘a [11] willbe 11
(3) a [11] will be 10 7 (49  None of the above
66. Following statement is given

a=0;

b=(@a=0)?2: 3 _
'What will be the value of b N

@2 | @ 3

®o @ 1

67. | Find the output for the following C program :
| main () » |
{intx=2,y=8, zfé",-"’G;
x=y==z;
printf (" % d"; %)
@ 1 : | )]
© 6 s [T (4

PHD EE-2018—Electron1cs & Communication Engineering-Code-C
| (13)
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68. | The data type of the controlling statement of a switch statement can not
' be of the type : | .
(1) int - | ‘. (2 char
*(8) short ' @ Afloat
69. | maim ()1
Chara[]= "ﬁeﬂo_world" :
.print £ (" % s", a+l);
) .
What is the output lof above 'C' program | : .
(1) Compilation Error \ (2) Garbage Output
| (8) ello World | @ hello world
70. | FORTRANisa | |
(1) Highlevellanguage (2) Lowlevellanguage
(3) OOP languag. o @ - Machine language
71, Three resistances R, =87 ohm * 5%, R, =75 ohm * 5%, R,=50 ohm + 5%,
~Determine the value of series res1stance error if they are connected in
series
1) £5% @ 5%
(3 *3.5% | @ £810%
72. | A 160 0% PF capacitor, an inductor of 160 pH and a'resisto;;f-
| 1200 10 Q are connected in series, The value of resonant frequency is .
() 1000kHz ' (2 100kHz ‘
(3 1.1MHz - .. (4 09MHz

i’HD-EE—ZOlS—Electromcs & Communication Engineering-Code-C
(14)
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78. | Normal probability curve is denoted by |

1 2 | 1 )
D) s2n &P (x?/ 20%) | 2) c\[Z—neﬂ%z |
‘_ : !
L 1
3 - JZ—RGXP (- x?/ 207 | (4) o2n &XP x3/ 20%)

74. | Relative static error may be defined as

1 true value . | ( '2) ~ true value — Absolute Error
(1) Absolute Error | true value
3 Absolute Error : @ Absolute Error
©) true value + Absolute Error : truevalue g
75. Static sensitivity at an operating point is given by

infinitesimal change in the dutput
infinitesimal change in theinput

M)

( '_) infinitesimal change in the input
infinitesimal change in the output

(3‘ _truevalue .
Absolute value-*

e
PERTLE

@ Absolute value

: true value
76. | Thei 1nput impedance of a cathode ray oscﬂloscope is of the order of
M 100 ' (2) ’Megaohms
(@) Kilo ohms -~ = (4)  fraction of 1 ohms

PHD- EE-2018—Electronlcs & Communication Engineering-Code-C
(15)
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77 | The mean deviation D in terms of. dev1at10ns from the mean value of n
readings is '
1o 24 - N N LA
® Yan e 2E
78. [ The transfer fu’nctio"-n of a system is G(s) = oo™ : the'system | | I'
e s(s+10)* .
(1) isa linear system | () ’ _is anonlinear system
(3)  hasa transportation lag @ Noné of fhé above
79. 802‘36 microprocessor has address bus of |
(M 16bits . @) -24bits
3) 20bits  ' o i (4) 8 bits
80. 8086 has a bus cycle qf at leést
(1) 4 clock periods =~ (2) 2 clock periods
1@ 3 clo_ck peiiods . _‘ (4  None of theée
81. .Current den31ty ina semlconductor material is gwen by
” ) J=npqgE A @ J=p 1p o/E
<) J=(nun+p'up)'.-E' @ =@, tpupy/E
;PHD EE—2018—Electron1cs& Commumcatlon Engineering-Code-C = : ]
| (16) -

Scanned with CamScanner



Code-C

Question

No. Questions
82. . | Fermi Level for a P-type semiconductor is given by
1 EF=EV~KTI‘ln'ﬁ @ EF=—EV-I-‘KTln‘ﬁ'3'
N, - N
@) E.= EV‘KT In ﬁ; ' 4) E.=E~K,In _I\f
83. qu conductors the valﬁe of Hall coefficient is given By :
n
@ Ry=_o it A
: ' - ; p’n
3) RH_:&E - (4) __.M
. - . . nq : g q -
84, The band gap energy of Ge at 300 K 1is given by
(1) E,=0.785eV e @ (B =1121eV
3) E =0.7181eV _ @ E =1. 212 eV
85. Under low level injection assumption, the injected minority current for
an extrinsic semiconductor is essentlally the :
(1) Diffusion current ' (2) Drift current
(8) Recombination current (4) Induction current
86. | Ga Ashasband gap energy of the order of
(1) |1.43eV ) iy o, (2 0.7eV
(3 24eV | v @ 16eV
- 87, A’I‘yplcal value of 1mpur1ty concentratmn in a tunnel daode is
| (O 1partin 10 parts i % (2)  1partin 10° parts
3) 1PPM ‘ . . (4) 1 part in 10 parts

PHD-EE—ZOIS_—_EIe_ctrdnics & Communication Ei_igi_néering-Code-C
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88.

" In the given circuit, the value of collector Q}lrrent is :

o=0.95

_,_4+4.5
[ VA
% > R, =5kQ ¥

T T %

<
1) 08mA @ 09mA
(3) 0.947mA (4  0847A
89. | MOSFET canbe usedasa .
(1) Current controlled capacitor (2)  Voltage controlled capacitor
(8) Current controlled inductor ~(4)  Voltage controlled inductor
90. The effective channel length of a MOSFET In saturation decreases with'
thei increase in .
(1) Gate voltage (2)  Drainvoltage
(B) Source voltage 4) Body voltége
91.

The open loop transfer function of a certain control system is given by
GH= (S+2y for K> 0. For what value of gain factor; K, will the root
locus of the control system cross the jw-axis

|
|
I

M 8 @ 14
3) 24 @ 64
;PI-ID-EE—2018—Ele'ctronics & Communication Engineering—Codt;-C
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92, For the above question, the value of the damping factor & for a design

value of gain factor equal to 8 ?

M 05 | @ 03
@ 0.707 - @ 0866

93. A sysifem has 14 poles and 2-zeroes. Its high frequency asymptote in its
. | magmitude plot will have a slope of S ‘

(1) —40 dB/decade . (2) —240 dB/decade
(3) —280 dB/decade (4 —320dB/decade

94. Bode plot of a stable system is shown in the following figure. The transfer
function of the system is : _ :

.20 -
gain ;
(dB) T 20 dB/decade
“w=1 =W
0y PHE 19 '
(S+1) | - /(8+])
: 10
® sErn . @ Se+)
95. The state transition matrix represents

v

(1) Forced respoﬁée of the éyétém

" (2) Free response of the system

(3) Transient response of the system
(4) None of these

PHD-EE-2018-Electronics & Communication Engineering-Code-C
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96. | The attenuation of the opt1ca1 ﬁber is of the order of

(1) O 01dB/K_ 2 (@) 0 2dB/K |
(3) 20dB/K, @ -40dBK,
97. | The operating frequency corresponding to 1550 nm is
| @ 193THZ , @ 19.3THz
(3 100THz (4 300THz
98. | Which of the followmg operational mode is hkely to produce the shortest
pulse width _ .
(1) Q-switched | (@ Cavity dumped
(3) Quasi-CW ' ' (49 Mode Locked
99. In optical commﬁnicatio_n systems, zero dispersion wavelength is operating
at : ' . \ ;
1) 800nm . @ 1330mm
3 1550nm . (9 1630nm

100. | InDWDM technology, the separatmn between the adjacent channelsis S of
- the order of

(1) 4-6nm RRT @ 0.8nm
(3) 0.1nm @ 810mm

-

PHD-EE—20 18-Electronics & Commumcatlon Engmeermg-code_c
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ENSURE THAT THEY HAVE BEEN SUPPLIED CORRECT AND COMPLETE

BOOK-LET. COMPLAINTS, IF ANY, REGARDING MISPRINTING ETC. WILL
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| 1. The Nyquist rate for message signal given by

m(t) = 10 cos 10% nt . cos 4 X 108t is
(1) 10LHz | @ 25kHz
3) 5kHz o 4 - 2kHz

2. Compression in PCM refers to relative compression of

| @ Lowersignal amplitudes (2)  Higher sighal amplitudes
. (8) Lower signal frequencies -~ (4)  Higher signal frequencies

3. For a bit rate of .8 kbps, the best possible values of the transmitted

frequencies in a coherent binary FSK system are -
'(1) 16kHzand20kHz - 2) 20kHzand 32kHz

(8) 20kHzand40kHz (4)  32kHzand 40 kHz

4. Which functwn displays a string of text and append a new line character
at itsend ? | .
(1) putchar ) i - | @  printf ()
3) puts () o @  put()

5. What will be output of the followmg code if i = 10 and a[10] = 20 ;
ali]=i++; B
(1) a[10]willbe10 - @ - alll] wi.leell
3) a[ll]willbe 10 - (4)  None of the above

6. | Following statement is given
a=0; -
b=(@a=0)?2:3; |
What will be the value of b
1 2 P @ 3
@ 0 @

PHD-EE—ZOIS—Electromcs & Commumcatmn Engineering-Code-D
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7. Find the output for the following C program :
main ()

lx=y==g;¢w |
pi-intf-(" %d',x) _
w1 g
@ 6. "3E @ 8
8. | The data type of the céntr’ol]ing statement of a switch statexhent can not
be of the type : ¥ ' ' G '
(M int | @ char
) sllmrt._ L _ @ float
9. |mam(){ | 2

Char a[]= "Hello world";

print £ (" % s", a + 1) g

}

What is the output of above 'C" pfogram
(@) Cbmpilation Error A. B ¢))

Garbage Outpﬁt
@) elloWorld - (g helo world
10. FORTRANisa - , |
(1) High level language - @ . Low 1eve1 lahguage
(3). OOP 1anguage | | @ Machine language

PHD-EE-20 18-Electronics & Corﬁmuhication Engineefing—Code-D .
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11. The open loop transfer function of a certain control sysfem is given by
GH = tS _}I_(z)s for K > 0 For what value of gain. factor, K, will the root
locus of the control system cross the jw-axis.
| 8 - @ 114
@ 24 - @ 64 |
12. For the above question, the value of the dampmg factor = for a des1gn
- | value of gain factor equal to 8 ?
1) 05 | '@ 03
| (3) 0.707 ' 4) 0.866
13. A system has 14 poles and 2-zeroes. Its h1gh frequency asymptote in its
magmtude plot will have a slope of
(1) —40dB/decade | @ - 240 dB/decade
(3) —280dB/decade - (). —3820dB/decade
14. Bode plot of a stable system is'shown in the followmg figure. The transfer.

function of the system is :

L || e :
%SIBH) T . ..,1" | 20 dB/decade
| . w=1 —>W
g s e ® Wsen
R P “ ST
= S(51) b, oy . @ s(s+1)

PHD-EE—2018—Electromcs & Commumcatlon Engmeermg—Code—D
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156. | The state transition matrix represents
(1) Forced response of the system
(2) Free  response of the system

(3) 'I‘rans1ent response of the system
- (4) None of these

16. | The attenuation of the opt1ca1 fiber is of the order of

'(1) 0.01dB/K_ ' @ o 2 dB/K
(3) 20dBK_ @ - 40 dB/K_
17. The operating frequency correspondmg to 1550 nm is
(1) 193THz (2) 19.3 THz
(3) 100THz | _ 4) 300 THz
18. Which of the following operational mode ig likely to produce the shortest
'| pulse width ; ' C e |
(1) Q-switched I L@ - Cavity dumped
3) Quasi-CW. - ' 4 @ . Mode Locked
19, II: optical communication Systems, zero dispersion wavelength ig operating
| at
(1) 800nm (2) 1330 nm
@ 1550nm 4  1630nm
20. | In DWDM techio

logy, the Separation between the adjacent channe]g .is of
the order of T . :

(1) 4-6nm. @  0.8nm
(3 01om S @ 810mm
| ‘fPI-ID-EE—'L’IOIS-Electronics & Communicat_ion Engineering—code.D o
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21. The octal equivalent of Hexadecimal number 2E.C1 wéuld be
- | O 212.602 (@)  56.602
(3) 56.623 - (4)  65.302
22. | The complement of complement of AB+A B will be
(1) AB+AB - @ AB
(3 AB+AB - 4) AB.(A +B)
23. ' | What is minimum number of 2-input NAND gates reqmred to complement
a 2-input OR gate
1 2 g
| ® 8 ihy @ 5
24. | Abasic CMOS two inpht NAND gate requires
(1) TwoN- channel MOSFETs
1 (2) Two N-Channel & two P-channel “VIOSFE’I‘S
(3) Two P-Channel MOSFETs
| (4) One N-Channel and one P channel MOSFET
25. IC 7402isa —2input :
(1) NAND gate - (@ EX-ORgate
(3) NOR gate ) ORGate
26.. | A decoder is nothing but a DEMUX without _
(1) control inputs - (@ datainput
(8) enableinput . (4)  clock- |
27, The size of a PROM needed to implement a dual8to 1 MUX with common
_ selection inputs would be ‘ ' '
(1) 266Kx2 | 2 512Kx2
1.@ 1024Kx2 | 4) 128Kx2

PHD-EE—2018—Electron1cs & Communication Engineering-Code-D
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28.

| @) JinputinJK flip flop (2) - . Rinput in RS flip flop-

W}nch one of followmg is not a synchronous input with reference to a flip
flop

(3) Preset input in JK flip flop 4) D-ihput in a D flip flop

29. A counter having a modulus of 64 should have a minimum of
(1) -Six flip flops (2)  Seven flip flops
, (3) 5 — D —flip flops ' 4 64 ﬂij;) flops
3Q. A logic circuit that gives a pulsed w aveform at the output for a Smusmdal
input - L
(1) Bistable multnnbrator - @ Monostable multi_vibrator
(3) : Astable multivibrator . (4)  Schmitt trigger
31. Current density in a semironductor material is given by
1) J=npdE° ' @ J=pppqFE
@ J=(apu,+ppp).E @) J=(ap,+ppp)/E
32. Fermi Level for a P-type sennconductor is glven by
(1) E,=E,~KTln 27 @ Ea- B, + KT In 3>
: v . _ 77 Ny
(6 _EF;EV_KTln-E_: ' L@ EF'—‘EC_KTln—I%
33. For conductors the value of Hall coefficient is given by

1 ' ng
| ' ' np, +p
@) Ry= %;- - 4 = ——_q_“z

PHD-EE—2018—Electromcs & Commumcatlon Engmeenng—Code—D
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34.. | Theband gap energy of Ge at 300 K is given by
1) E=078ev = .= (2

@ E,=0.7181eV | @

E;- 1.121eV
E =1 212eV

35. Under low level injection assumption, the injected m1nor1ty current for

an extrinsic semiconductor is essentially the

Rl o a1 o S S

‘| 1) Diffusion current e (2) Drift current
(8) Recombination current :' 4 Inductlon current
36. ' | Ga Ashasband gap energy of the crder ef .
| (1) 143eV | @  07eV
@) 246V @ 16eV
37. Typical value cf impurity concentration in a tunnel diode is b
| (1) 1partin 108 parts s @ . 1 pe.rt in 103 partsv :
@ 1PPM R, © @ lpartinl0 parts
38. | In the given circuit, the value of collector current is :
. Efe ot'zo.95" - ‘_'__'+4Vi .
% ) . %RL =5k Y
e | T 6V
M 08mA @  09mA
3 0947TmA - . @ 0.847A
Pl'ID-EE-2018—Electromcs & Commumcatlon Engmeenng—Code—D
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39. MOSFET can be used as a | |
| (1) Current contrdﬂed capacitor  (2) Volfage controlled capacitor

(3) Current controlled inductor ~(4)  Voltage controlled inductoi‘

\

40. The effective channel length of a MOSFET in saturation decreases Wlth
" | theincrease in -

Q) Gate voltage | | (‘2)' Drain voltage
3) Sou;ce voltage _ ‘ (4) - Body voltage
41, 8086 has Basic no. of instructions
(1) 64 g g @ 17
'@ 128 @ 256

42, The startmg address of an 1nterrupt is called (1n 8086 MlCI'O processor)
(1) - stack pointer (2)  program counter

@3) - interrupt output ‘ (4)'  interrupt vector

43. In 8086 type O interrupt is reserved for

(1) single step % () NMI
(3) Interrupt on overflow (€)) | Divide Error
44, For a fully controlled single phase converter supplies power to a resistive

* load of 10Q, th- input voltage is 230 V, 50 Hyz, the value of average output
voltage is for o = 45° | 5

(1) 276.74V @) - 376.74V
() 17674V o @ . 76.74V

PHD-EE—2018—E!ectromcs & Communication Engineering-Code-D
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45. Consider the circuit shown. What is the minimum width of gate pulse to
' ensure turn of the thyristor (I, = 4 mA)
T
- 3
=220V 02H
@ 2ps - - @ 4ps
@) 6mps . @ 8ps
46. Snubber circuitis a ' _
(1) RLcircuit | (@)  Purely Resistive
3)" Purely inductive @ R-Ccircuit
47, Chopper is Iused for conversion of
(1) actodc | (2) dc to ac
() actoac . J - 4) oc to dc
48. Class 'C' chopper works in the following quadrants
@) 1st @  2nd
(8) 1lst&2nd | 5 | (4  All'quadrants
49, Induction heating is used for ‘
1) Volum'e heftting B " (2 Plasticpacking
RS 'Plyboard inoustrj} B (4) Surféce heating
- 50. For Speed control of ac motors followmg are used .
| @) Cyclo converters 2 Choppers
@) Rectifiers - -~ (4 - UJTandSCR

PHD-EE—2018—Electromcs & Commumcatlon Engineering-Code-D
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51_. 4 The region of convergence of i-transform of the sequence ]
[%:I u(n);[—g-:l u(-n-1) is
1@ 121<% @ lzl>¥
5 6 o 6 a
(3) 6<|2|<§“ ¢ | @ '§<|z|<oov

52. ' | Thepower saving in case of ASSB/SC‘signal as compared to a standard AM
signal for modulation index =0.5 is |

(1) 944% - - 2 282%

@ 56.7% @ 5%

53. Which of the following suffer (s).from the threshold effect
(1) *AM detection using envelope théction

(2) AM detection using synchronous detection
(8) FM detection using a discriminator _

(4) SSB detection with synchronous detection

54. A sinusoidal wave of amplitude 10 V and frequency 1kHz is applied to an
FM generator having a frequency sensitivity.constant of 40 Hz/V , the

frequency deviation is . :
@ 100Hz . . @ 200Hz
(@) 400Hz - () 500Hz

55. ' | In a VSB system, modulating frequency of 3 MHz results in a sideband
power of 25 W. If the carrier power is 100 W, the depth of modulation is

1) 25% (2) 50%
@) 5% @ 100% »
PHD-EE-2018-Electronics & Communication Engineeri'ng-Codé—D _
. | (10)
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56. An FM signal is represented by v(t) = 15 cos [108 w t + 6 sin 2n % 10 t]. The |
maximum phase deviation in radians are

€ 9 )

@) 6 T i @)
57. PLL can be used to demodulate e
| (1) PAMsignals = (20 FMsignals

3) PCM 4) DSBSC
58. | PAM signals can be detected by using

(1) ADC | @ Integrator
(3) Band pass filter | (4) . High pass filter

59. The input to a coherent detector is DSBSC signal plus Noise, the noise at
| the detector output.is given by

(1) In phase component (2) Quadrature component
(3) Zero | (4)  Envelope

. 60. A Hilbert transformer is a b, |
‘(1) Non linear system (2) " Non-causal system |
(3) Time-varying system | (4) Low pass system

61. Three resistances R, =37 ohm + 5%, R, =75 ohm + 5%, R, =50 ohm * 5%,
. Determine the value of series resmtance error if they are connected in

series )
1 Q) *5% T @  t7.5%
(8 +3.5% 4 +8.10%

62. - [ A 160 £0% PF capacitor, an inductor of 160 pH and a resistor of
. 1200 +10 Q are connected in series. The value of resonant frequency is

(1) 1000 kHz e (20 100kHz
3) 1.1MHz | 4 09MH=z

PHD-EE-2018-Electronics & Communication Engineering-Code-D
(11)
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63. Normal probability curve is denoted by

1

k. 1 i . P ) ., & ‘ ! ‘
- L 2 [ o2y - 202
.(1) o2n exp(x /_20). , - (2). cme
@3 LA 2/ 962 ’ 4) l - e (X“‘/‘-20-3)‘
(3 -Gmexp(—x_ c?) | () o2m &XP o
64. Relative static error may be defined as
('1) ~ true value i '- 9 " true value — Absolute Error
Absolute Error _' @) - true value
©) Absolute Error : -.V- : (4 - Absolute Error
true value + Absolute Er~e ) ~ truevalue
65. | Static sensitivity at an operating pomt is gwen by

mﬁmtesmal change in the output
infinitesimal change in the i input

@

infinitesimal change in the input

@) infinitesimal change in the output
true value
.(3) - Absolute value
Absolute valee :
: @ true value -

66. ‘| The input impedance of a cathode ray oscilloscope is of the order of

1) 10Q _ 2) Mega ohms
(3) Kiloohms | 4y fractlon of 1 ohms
PHD-EE—2018—Electromcs&CommumcatlonEngmeermg-Code—D 1 000 :
(12) . S T
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67. - | The mean dev1at1on D in terms of dev1at1ons from the mean value ofn|
' readings is

d
Q) Zl I - @ ’Z d% .
@ X dn o @ ,an’

68. The transfer function of a system is G (s) = 1?0 el':) the system
(1) isa linear sysfem (2) isanonlinear system
. (3) hasatransportationlag (49 Nonme of the above
69. 8086 microprocessor has address bus of _
(1) 16bits (2) 24bits
3) 20bits - o (4)  8bits ;
70. | 8086 has a bus cycle of at least | AR
(1) 4 clock periods T (2) - 2 clock periods 3
(3) 3clock peﬁods » R C) 1_\_Iene of these
71. Poisson's equation is given by I- :
1 vD=0 - . @ viV=0
@ viv=-2 , @ viv=Jg

| 7. The total flux of a closed surface is equal to the net charge enclosed
w1th1n the surface. This statement is an expression of

(1) Divergence Thee,rem ' " (2 Gauss'sLaw
(3) Faraday Law - (49  Maxwellsequations

PHD-EE-2018—Electromcs & Communication Engineering-Code-D
(13)
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73. The divergence of a vector A =x 4x + yay+zéaz is .
®o G @ K
1@ 1 " @ 3
745. Which of the following expression is true for a perfect dielectric
1) o>we 2 o=we. '
(@) o<<we @ o=dwe
- 175, Given that ¢ = 38 m S/m & p_=1 for aluminium, the skin depth at a
frequency of 2 MHz would be equal to _ |
(1) 64.5nm . (@ 645um
| ® 57.7am ' (4 57.77pm
76. The power lensity of sular radiation at a place is 1.2 k%z . The
approximate value of electric field corresponding to the incident solar
. power is given by
(1) 950 V/m (2  750V/m
(3) 450V/m . @ 475Vm
77, A plane wave in air impinges at 45° on a loss less dielectric. The transmitted
wave propagates at an angle 30° with respect to the normal. The value of
dielectric constant of the dielectricis ‘
1D 25 @ 20
1@ 30 . @ 40
78. m

A plane wave travelling in a free space is incident normally on a medium

having e, = 4.0. The fraction of power transmitted in to the medium is
given by :

Gy B R I
® % " @ ¥

PHD-EE-2018-Electronics & Communication Engineéringécode-D
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79. A metallic waveguide can be considered as a
- (1) low pass filter . (2  high pass filter
| (3) bandpassfilter == (4)  band reject filter

80. A 10 GHz wave is propagating in a waveguide having a wall separation of
4 cm. The largest number of half waves of electric intensity possible in
the waveguide is _
@ 1 y (2) 3
@) 2 - @ 4

81. | For a common base BJT, havingI =5 mA and a=0.97 an AC signal of 5 |

mV is applied between the base and the emitter termmals The input
impedance is given by .

1) 520 @ 6Q
3 49Q ' | 4 6.7Q
82. | The typical value of h,for common base BJT is
1 1) 50-250 , 2) -50
3 -1 @ 2%
83. - | If the source resistance, the output resistance of emitter follower usmg
the simplified hybrid model would be :
h,+R, h, +R,
o | @
1 | = 1
(8) R+ Tt . @  h,

84. | The ripple factor is given by

' BT TR | ' I 2.
(1) (EI—';“—} -1 S @ (l“ f)

ms

(3)'-1:_ S P S -

PHD.EE-2018-Electronics & Communication Engmeenng—Code—D
- (15)
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85.

Following circuits is given by :

. D ¥,
| o/p c |

CT b

b (1) Bridge rectifier . ‘ ‘(2)_ - Ring modulator
3) Frequency discriminator @ Voltagé doubler

86. For a transistor amplifier to be inherently stable aga.mst thermal rur
away, the condition is

Ve S o =

(1)_ _VCE% . SC _ i@ Ve s -%’-
' .V i .Yﬂ _ ' ;
3) &= . | 4 V=15 Yoo

87. . | For the circuit given the value of V. .is -

8V

1 +5.14v @ =614V
@ -614V. - @ o+ 14v

PHD-EE—2018—Electronics & Commumcatlon Engmeerlng—Code-D
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(1) internal capac1tance of the device
(2) coupling capacitor at the input
'~ (3) skin effect

(4) coupling capacitor at the output

88. The gain of a transistor amphﬁer falls at high frequency due to the

89. | The effect of negative feedback on Noise is

| ZA+ZB+Z
®) Z, _Z Zo+ZyZo+ZgZ,

N _ o : e '
® Topa . @ N@-pa)
B N(1+p4) | =
- 90, Cross-over distortion behaviour is a characteristics of :
' (1) Class—A outputstage = (2) Class—B output stage
- (3) Class—ABoutputstage =~ (4  Common base output stage
9L T to n transformation gives the value of Zo=>
' Z, 4 , ety
o AN A—0 o 1Z, l o
‘ Zil . | Zy Z ‘ |
%k ' o o I -0
T network 7 network
7 _I_ZI Z,+2,Z,+2, ZsJ 2,7y
@) (%= L ARECE €= Z,+Z5+Z

c= Z,+ZZ+Z,

Ty 2y 2,y

| PHD-EE—2018—Electronlcs & Commumcatlon Engmeermg—Code—D
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92. | Inthe above question = to T conversion gives the value of Z, i‘
(1) Zy Z, . @ Zy+Zpy+Z, ,t
. Zy+Zp+Z, Lo ZZy+ZgZ:-+2:.2, ;
| Z+Z Z,7 - .
3 -_1_2__ ‘ - : gt A B k |
(_.) Z,+2,+Z, b i e - Zy+Z5+Z, 4
' 93. The equivalent inductance of the folldwing is given by |
1 —=m——ame
o 2- .
@) L+L+M ©® L+L-M
@ L +L,+2M = @ L +L,-2M
94, Every arm of the cube has a resistance of 6 ohms. The equwalent
resmtance of the cube is given by
. 6Q .
6o |
: 6[Q |60
6Q
: Q
60 ki
1 36Q . @ 120
.(3) IOQ._',‘_. : 4 5Q.

PHD-EE—2018—Electromcs & Commumcatlon Engineering-Code-D
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. 95. In the following circuit, the value of R, is given by

kQ  1kQ
- —M—
+ V, -
12V== SR, & 2v,
(1) 0.5kQ e @ 250Q '
@ 1kQ ~ @ 2kQ
96. Series RLC circuit hasa resonant frequency of 1 MHz and a quality factor |

of 100, if the values of R, L, C are doubled, what is the new value of Q?
1) 25 (2) 50
(3) 100 (4 200

97. | in a series RLC circuit R = 2kO, L=1H, C = 200 pF, The resonant

frequencyis . - . e
L S 10

(1) 2x10*Hz @ ——He

3) 10kHz 4  20nkHz -

98. For a 2-port network to be reciprocal, following is true
@ lY21 = 'Y12 & h21 == h12

1) Z,,=2Z,and Y, =Y,
4 AB-CD =0

@) AD-BC=0

PHD-EE-2018-Electronics & Communication Engineering-Code-D
. | , (19)
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99, The network shown behaveslikea . . F i
‘e
lo—i¢ 03
L R
20 .. , 04 .
(1) - High pass filter (2 LPF
(3) BPF R (4)  Band stop filter

100. .If the scattering matrix [S] of a two port nefwork is

0220° 09£90°) ', ,
[S]= [ 0990° 0.1 4900] then the network is

(1) lossless and 'i;eciprocal_ (2  lossless but non réciprocal

(3) lossy but reciprocal - (4)  neither lossy nor reciprocal

.PI-ID-EE-2018-Electronics & Communication Engineering-Code-D
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